DATE	VAN 1	VAN 2	VAN 3	VAN 4
1 st Feb	10.00-12.30 Venue 1 Perton Civic Hall, Church Road, Perton. WV6 7PD	10.00-12.30 Venue 1 Stonnall Village Hall, 114 Main Street, Stonnall. WS9 9DY	10.00-12.30 Venue 1 Walton Community Centre, Whitemill Lane, Stone, ST15 0EQ	10 - 12.30 Venue 1 Norton Canes Community Centre, Brownhills Road, Norton Canes, Cannock. WS11 9SF
	2 - 4.00 Venue 2 Haling Dene Centre, Cannock Road, Penkridge. ST19 5DT	2.00-4.00 Venue 2 St Johns Community Church, High Street, Chase Terrace.WS7 1LR	2.00-4.00 Venue 2 Eccleshall Community Centre, Shaws Lane, Eccleshall. ST21 6AU	2.00-4.00 Venue 2 Rugeley Leisure Centre, Burnthill Lane, Rugeley. WS15 2HZ

2 nd Feb	10.00-12.30 Venue 1 Cannock Rugby Club, 70A Stafford Road, Huntington, Cannock WS12 4PE	10.00-12.30 Venue 1 Shenstone Village Hall, Barnes Road, Shenstone. WS14 OLT	10.00-4.00 Venue 1 Sacred Heart, Church, Silver Link Road, Glascote Heath, Tamworth. B77 2EA	10 - 12.30 Venue 1 Caverswall Village Hall, The Dams, Caverswall ST11 9ED
	Great Wyrley Scout and Guide Hut, Walsall Road, Great Wyrley. WS6 6LA	2.00 - 4.00 Venue 2 Fazeley Town Hall, Lichfield Street, Fazeley. B78 3QN Robert Young - 07855050424		2 - 4:00 Venue 2 Werrington Village Hall, 358 Ash Bank Road, Werrington ST9 0JS
3 rd Feb	10 - 12.30 Venue 1 : Pye Green Community Centre Bradbury Lane, Hednesford. WS12 4EP	10.00-12.30 Venue 1 Uttoxeter Leisure Centre Oldfields Road Uttoxeter ST14 7QL	10.00-12.30 Venue 1 Trysull Village Hall, School Road, Trysull, Wolverhampton. WV5 7HW	10.00-12.30 Venue 1 Bradwell Lodge Community Centre Bradwell Lane Porthill Newcastle-under-Lyme ST5 8PS
	2.00 - 4.00 Venue 2 Rugeley Leisure Centre, Burnthill Lane, Rugeley. WS15 2HZ	2.00-4.00 Venue 2 Armitage Village Hall, Shropshire Brook Road, Armitage. WS15 4UZ	2.00-4.00 Venue 2 Codsall TBC	2.00-4.00 Venue 2 Victoria Hall, Liverpool Road, Kidsgrove, Stoke-on-Trent ST7 4EL

4 th Feb	10 - 12.30 Venue 1 Perton Civic Hall, Church Road, Perton. WV6 7PD	10.00-12.30 Venue 1 Winshill Resource Centre Canterbury Road, Burton-upon- Trent. DE15 0HD	10.00-12.30 Venue 1 Rising Brook Community Church Burton Square, Stafford. ST17 9LT	10.00-12.30 Venue 1 Shenstone Village Hall, Barnes Road, Shenstone. WS14 OLT
	2.00-4.00 Venue 2 KinverSports & Community Ass Legion Drive (off High Street), Kinver. DY7 6ET	2 - 4.00- Venue 2 Waterside Community Centre Heath Road, Stapenhill DE15 9LF	2.00-4.00 Venue 2 Walton Community Centre, Whitemill Lane, Stone, ST15 0EQ	2.00-4.00 Venue 2 St Johns Community Church, High Street, Chase Terrace.WS7 1LR
5 th Feb	40.00.42.20.Venue 4	10.00-12.30 Venue 1	40.00.40.20.	10.00-12.30 Venue 1
	10.00-12.30 Venue 1 Pye Green Community Centre Bradbury Lane, Hednesford. WS12 4EP	Uttoxeter Leisure Centre Oldfields Road Uttoxeter ST14 7QL	10.00-12.30 Venue 1 Meir Heath & Rough Close Village Hall Grange Road, Stoke - on-Trent ST3 7BH	Victoria Hall, Liverpool Road, Kidsgrove, Stoke-on-Trent ST7 4EL
	2.00-4.00 Venue 2 Rugeley Leisure Centre, Burnthill Lane, Rugeley. WS15 2HZ	2.00-4.00 Venue 2 Abbotts Bromley Village Hall, OFF Bagot St, Rugeley WS15 3DB	2.00-4.00 Venue 2 Barlaston Village Hall, Longton Road, Barlaston. ST12 9AA	2.00-4.00 Venue 2 Bradwell Lodge Community Centre Bradwell Lane Porthill Newcastle-under-Lyme ST5 8PS

6 th Feb	10.00-12.30 Van 1 Codsall TBC	10 - 12.30 Venue 1 Rolleston Scout Group Station Rd, Rolleston- on-Dove Burton DE13 9AB	10.00-12.30 Venue 1 Sacred Heart, Church, Silver Link Road, Glascote Heath, Tamworth. B77 2EA	10.00-12.30 Venue 1 Victoria Hall, Liverpool Road, Kidsgrove, Stoke-on-Trent ST7 4EL
	2.00-4.00 Venue 2 Great Wyrley Scout and Guide Hut, Walsall Road, Great Wyrley. WS6 6LA	2.00-4.00 Venue 2 Branston Golf Club, Burton Road, Branston. DE14 3DP	2.00-4.00 Venue 2 St Martins Church Centre, Ellerbeck, Stoneydelph, Tamworth. B77 4JA	2.00-4.00 Venue 2 Bradwell Lodge Community Centre Bradwell Lane Porthill Newcastle-under-Lyme ST5 8PS
7 th Feb	10 - 12.30 Venue 1 Pye Green Community Centre Bradbury Lane, Hednesford. WS12 4EP	10.00-12.30 Venue 1 Whittington Village Hall, Langton Cresent, Whittington. WS14 9LR	10.00-12.30 Venue 1 The Grosvenor Centre, High Street, Gnosall ST20 0EX	10 - 12.30 Venue 1 Caverswall Village Hall, The Dams, Caverswall ST11 9ED
	2 - 4.00 Venue 2 Norton Canes Community Centre, Brownhills Road, Norton Canes. WS11 9SF	2.00-4.00 Venue 2 Alrewas Royal British Legion Rykneld Street, Alrewas, Burton upon Trent. DE13 7AX	2 - 4.00 - Venue 2 Holmcroft Youth & Community Centre Newland Ave Stafford ST161NL	2 - 4.00 Venue 2 Werrington Village Hall, 358 Ash Bank Road, Werrington ST9 0JS